Recall:
For
$$f = F'$$
 we have
 $F(x)\Big|_{a}^{b} = F(b) - F(a) = \int_{a}^{b} f(f)dt$
We also write
 $\int f(x)dx = F(x)$.
Example 7.4:
i) Let se R, $s \neq -1$. Then we have
 $\int_{a}^{b} x^{s}dx = \frac{x^{s+1}}{s+1}\Big|_{a}^{b}$
where we have the following restrictions for
the integration interval:
for $s \in N_{1}$ a, $b \in \mathbb{R}$ arbitrary; for $s \leq -2$,
the interval [a, b] should not contain 0
(otherwise F not continuous there)
ii) For $a, b > 0$ we have
 $\int_{a}^{b} \frac{dx}{x} = \log x \Big|_{a}^{b}$.
For $a, b < 0$ we have

$$\int_{a}^{b} \frac{dx}{x} = \log(-x) \Big|_{a}^{b}, \text{ as } \frac{dx}{dx} \log(-x) = \frac{1}{x}$$
for $x < 0$.
Summarizing, we get:

$$\int \frac{dx}{x} = \log |x|, \text{ for } x \neq 0.$$
(0 should not lie in the integration interval)
(0 should not lie in the integration interval)
(11)
$$\int \sin x \, dx = -\cos x$$
(11)
$$\int \cos x \, dx = \sin x$$
(12)
$$\int \cos x \, dx = \sin x$$
(13)
$$\int \frac{dx}{1 - x^{2}} = \arctan x.$$
(14)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(14)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(15)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(16)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(17)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(18)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$
(10)
$$\int \frac{dx}{\cos^{2} x} = \tan x.$$

$$\frac{\operatorname{Proposition 7.11}(\operatorname{Substitution rule}):}{\operatorname{Zet} f: \Gamma \longrightarrow \mathbb{R} \text{ be a continuous function}}$$

and $\Psi: [a, b] \longrightarrow \mathbb{R}$ a continuously differentiable
function with $\Psi([a, b]) \subset \Gamma$. Then we have
 $\int_{a}^{b} f(\Psi(t)) \Psi'(t) dt = \int_{a}^{b} f(x) dx.$

$$\frac{\operatorname{Proof}}{\operatorname{Yet}}$$

$$\operatorname{Yet} F: I \longrightarrow \mathbb{R} \text{ be an indefinite integral of } f.$$
For the function $\operatorname{Fo} \varphi:[a,b] \longrightarrow \mathbb{R}$ we have
using the chain rule
$$(\operatorname{Fo} \varphi)'(f) = \operatorname{F}'(\varphi(f)) \varphi'(f) = \operatorname{f}(\varphi(f)) \varphi'(f)$$

$$\operatorname{Th} 7.2 \int_{a}^{b} \operatorname{f}(\varphi(f)) \varphi'(f) df = (\operatorname{Fo} \varphi)(f) \Big|_{a}^{b}$$

$$= \operatorname{F}(\varphi(b)) - \operatorname{F}(\varphi(a)) = \int_{\varphi(a)}^{\varphi(b)} \operatorname{f}(x) dx$$
Notation:

and
$$\int_{a}^{b} f(\varphi(t)) d\varphi(t) = \int_{\varphi(a)}^{\varphi(b)} \varphi(b)$$

$$\frac{E \times ample 7.5:}{b}$$
i) $\int_{a}^{b} f(t+c) dt = \int_{a+c}^{b} f(x) dx, \quad (substitution \ \ensuremath{\mathscr{Q}}(t) = t+c)$
ii) For $c \neq 0$ we have
$$\int_{a}^{b} f(ct) dt = \frac{1}{c} \int_{ac}^{bc} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = ct)$$
iii) $\int_{a}^{b} t f(t^{2}) dt = \frac{1}{1} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathscr{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathscr{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = \frac{1}{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathbb{Q}}(t) = t^{2})$
iv) $\lambda et \quad \ensuremath{\mathbb{Q}}(t) = t^{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathbb{Q}}(t) = t^{2} \int_{a^{2}}^{b^{2}} f(x) dx, \quad (\ensuremath{\mathbb{Q}}(t) = t^{2} \int_$

Vi) In order to compute
$$\int_{a}^{b} \frac{dx}{1-x^{2}}$$
, where
 $-1, 1 \notin [a, b]$, are uses the following:
As $1-x^{2} = (1-x)(1+x)$, we solve for $dy S \in \mathbb{R}$
such that
 $\frac{1}{1-x^{2}} = \frac{d}{1-x} + \frac{5}{1+x}$,
 $\frac{1}{1-x^{2}} = \frac{(d+/S) + (d-S)x}{1-x^{2}}$
 $\Rightarrow d = /S = \frac{1}{2}$. This implies
 $\int_{a}^{b} \frac{dx}{1-x^{2}} = \frac{1}{2} \left(\int_{a}^{b} \frac{dx}{1-x} + \int_{a}^{b} \frac{dx}{1+x} \right)$
 $= \frac{1}{2} \left(\int_{a}^{b} \frac{dx}{1+x} - \int_{a}^{b} \frac{dx}{x-1} \right)$
 $= \frac{1}{2} \left(\log |x+1| - \log |x-1| \right) \Big|_{a}^{b}$
 $= \frac{1}{2} \log \left| \frac{x+1}{x-1} \right|_{a}^{b}$
Vii) In order to compute $\int \frac{dx}{\sqrt{1+x^{2}}}$, use the
substitution $x = \sinh t = \frac{1}{2}(e^{t} - e^{-t})$. As
 $d\sinh t = \cosh t dt$, $\cosh^{2} t - \sinh^{2} t = 1$,

orsinh x = log (x +
$$\sqrt{1+x^{2}}$$
), (Homework)
we get with u= Arsinha, $v = Arainhb$

$$\int_{a}^{b} \frac{dx}{11+x^{2}} = \int_{u}^{v} \frac{dsinht}{\sqrt{1+sinh^{2}t}} = \int_{u}^{v} \frac{cosht}{cosht} dt = t \Big|_{u}^{v}$$

$$= log (x + \sqrt{1+x^{2}})\Big|_{a}^{b}.$$
viii) (omputation of $\int_{a}^{b} \frac{dx}{\sqrt{x^{2}-1}}$, (a,b > 1).
We substitute $x = cosht = \frac{1}{2}(e^{t} + e^{-t}).$ As
 $d cosht = sinht dt$
 $Av cosh x = log (x + \sqrt{x^{2}-1}),$
if follows with $u = Arcosh a, v = Arcoshb$
 $\int_{a}^{b} \frac{dx}{\sqrt{x^{2}-1}} = \int_{u}^{v} \frac{sinht}{sinht} dt = t \Big|_{u}^{v}$

$$= log (x + \sqrt{x^{2}-1})\Big|_{a}^{b}.$$

$$\frac{\operatorname{Proposition 7.12}}{\operatorname{Yertial integration}}:$$

$$\frac{\operatorname{Proposition 7.12}}{\operatorname{Yet} f_{i} g_{i} [a_{i}b_{i}] \longrightarrow \mathbb{R}} \text{ be two continuously}}$$
differentiable functions. Then
$$\int_{a}^{b} f(x) g'(x) dx = f(x) g(x) \Big|_{a}^{b} - \int_{a}^{b} g(x) f(x) dx$$
A short hand notation for this formula is:
$$\int f dg = fg - \int g df.$$

$$\frac{\operatorname{Proof:}}{\operatorname{For} F := fg} \text{ we have according to the}$$

$$\operatorname{Product} law:$$

$$F'(x) = f'(x)g(x) + f(x)g'(x),$$
and thus according to Theorem 7.2:
$$\int_{a}^{b} f'(x)g(x) dx + \int_{a}^{b} f(x)g'(x) dx = F(x) \Big|_{a}^{b}$$

$$= f(x)g(x) \Big|_{a}^{b}$$

$$\xrightarrow{From this the claim follows.}$$

$$\frac{E \times a \dots ple 7.6:}{i) \quad \text{Zet} \quad a, b > 0. \quad \text{In order to compute } \int_{b}^{b} \log_{x} dx}$$

$$we \quad \text{set} \quad f(x) = \log_{x}, \quad g(x) = x.$$

$$\int_{a}^{b} \log_{x} dx = x \log_{x} |_{a}^{b} - \int_{x}^{b} d\log_{x}$$

$$= x \log_{x} |_{a}^{b} - \int_{a}^{b} dx$$

$$= x(\log_{x} - 1)|_{a}^{b}.$$

$$ii) \quad \text{Computation of } \int_{arctanx} dx.$$

$$\int_{arctanx} dx = x \arctan_{x} - \int_{x} d\arctan_{x} x$$

$$As \quad \frac{d}{dx} \arctan_{x} = \frac{1}{1 + x^{2}}, \quad we \quad \text{get}$$

$$\int_{x} d\arctan_{x} = \int_{x} \frac{x}{1 + x^{2}} dx = (\text{substitutian} t + x^{2})$$

$$= \frac{1}{2} \int_{a} \frac{dt}{1 + t} = \frac{1}{2} \log(1 + t)$$

$$= \frac{1}{2} \log(1 + x^{2})$$